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Staying with the same example
Ws span 9111, I}
dim LW) -- 2 and WE 1%23

l'T""÷÷÷÷¥÷÷÷...a-Equation of
X-axis

this plane

{%! % 2x-y-z.SI
41,156W and 12,44/6 'W

.



www.vlityv.wwsthgl.CC
Wt-- span{41, ) ) orthogonal
defi@da1wagsdanlWl-2.dm( wt) =/
WE 1123 and WIS IR

'

We're heading towards a
theorem which says if WAWto
than Vs W④ Wt

3 = 2 t l
n

-

Ovthogonalprojeefionontow
Let L

,
S : Vxv- If be a

Sesquilinear form . Let WSV
a subspace .

Let
{ w

, , . . . , Wal be a basis ofW
.

Assume Wn wtso so that
thedualbasis
exists {w's WY .

. .

,
wk?



The orthogonalpwjeetcvnontow
is the lcheat transformation

Pw : V→ V given¥÷÷÷÷÷÷÷:::÷
- - - TLV

,
WK> W '

k

If v e V than Pw Irl e W
.

(Does Pw depend on the
choice ofthe basis ? )

.

Proposition Dw is the unique
linear transformation PsV→ V
such that
111 If vE V ther Plvl tw
14 If vEV and WEW then

Lv
, WD s LPLv), w> .



Prod To show :
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